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Choose the correct answer.

Each question carries 1 mark.

1 . A mutually beneficial association necessary for survival of both partners is —
(A) Commensalism
(B) Amensalism
(C) Mutualism/symbiosis
(D) Both (A) and (B)
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2_ The relation between algae and fungi in lichen is —
(A) Commensalism
(B) Symbiosis
(C) Protocooperation
(D) Parasitism
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3 In a community, food chains are linked together to form —

(A) Food niche
(B) Food web
(C) Ecosystem
(D) Ecological niche
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4 Which one is not a pollutant normally ?
(A) Hydrocarbon
(B) Carbon dioxide
(C) Carbon monoxide
(D) Sulphur dioxide
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5 Upper part of sea/aquatic ecosystem contains —

(A) Plankton
(B) Nekton
(C) Plankton and nekton
(D) Benthos
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). Which of the following is a false fiuit?

(A) Tomato
(B) Potato
(C) Orange
(D) Apple
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7 A flower is scented, bright coloured and secret nectar. It may be —

(A) Insectivorous plant
(B) Pollinated by insect
(C) Sterile plant

(D) Pollinated by wind
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8 Angiosperm differs from gymnosperm —
(A) Being evergreen
(B) Smaller in size
(C) Having compound leaf
(D) Seed are not naked
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(A) Sclerenchyma
(B) Parenchyma

(C) Collenchyma
(D) Chlorenchyma

10 . Which are the external protective tissues of plant —
(A) Cork and Epidermis

(B) Cortex and Epidermis

(C) Pericycle and Cortex

(D) Epidermis and Cork
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(A) Cork and Epidermis
(B) Cortex and Epidermis
(C) Pericycle and Cortex
(D) Epidermis and Cork
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Which of the following is not a single flower?
(A) Petunia

(B) China rose

(C) Sunflower

(D) None of the above
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12 Reproductive whorl in a flower are —

(A) Stamen and Sepal
(B) Stamen and Carpel
(C) Sepal and Carpel
(D) Sepal and Petal
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13. The newly collected type specimen submitted in herbarium for identification is
known as —

(A) Holotype
(B) Neotype
(C) Lectotype
(D) Paratype
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14. Natural system of Classification was proposed by —
(A) Carl Linnaeus
(B) Engler and Prantl
(C) Bentham and Hooker
(D) None of the above
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15. A tissue that does not contain lignin is —
(A) Sclerenchyma
(B) Parenchyma
(C) Collenchyma
(D) Chlorenchyma



16
~ A flower with both essential and non-essential whorls known as —

(A) Complete
(B) Incomplete
(C) Irregular
(D) Sessile
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Group - A

1. Answer any one question from the following : 9x1=9

(a) Define the term placentation. Explain the different types of placentation with
suitable diagrams. 2+7

(b) Write down the general characteristics of the family Solanaceae with
suitable floral diagram. Write down the economic importance of this family
with examples. 6+3

2. Answer any two questions from the following : 4x2=8

(a) Name two botanical gardens of India. Write down the importance of
herbarium. 2+2

(b) Write the economic importance of the family Poaceae with suitable

examples.
(c) What are the accessory whorl and reproductive whorl ? Mention their
function. 2+2
(d) What are berry and legume ? Give examples. 2+2
Group - B
1. Answer any one question from the following : 9 x1=9
(a) Describe the Nitrogen Cycle with proper diagram. 9
(b) Describe the structure of xylem with diagram. State the function of xylem
in plant. 6+3
2. Answer any two questions from the following : 4x2=8

(a) Write a short note on Food Chain.

(b) What is stele? Describe Protostele with diagram. 1+3
(c) Differentiate between intrastelar and extrastelar secondary growth.

(d) Distinguish between parasitism and mutualism.
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